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ll I Semester B.Com. Exam i nation, March/A pril 2022

(CBCS) (R) (201s-16 and Onwards)

COMMERCE

Paper - 3.6 : Quantitative Analysis for Business Decisions

Time:3Hours Max.

-il

Marks : 70

lnstruction : Answer should be completely either in English or in

Kannada.

SECTTON - A

Answer any five of the following sub-questions. Each sub-question carries
two marks : (5x2=10)

1. a) What is positive correlation ?
i.

b) State the components of time series.

c) State the methods of non-probability sampling.

d) Expand (Y - 1)u = 0.

,,!.,

e) What is lnterpolation ?

f) What are the regression lines ?

g) lf bxy = -0.36, byx - - 1.38 obtain r.

P.T.O.
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SECTION - B
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Answer any three of the following questions. Each carries six marks : (3x6=18

Z. A box contains 5 white, 4 red and I black balls. Find the probability of getting

a white or black ball in a single draw.

3. You are given the following data :

Variables x Y

Mean 47 96

Variance 64 81

Correlation co-efficient between X and Y 0.36

Calculate the regression line X on Y and also calculate X when Y = 88'

4. Estimate the missing value of production.

Year 1' 201 0 2011 2012 201 3 2014 201 5

Production (in '000 tons) 320 300 ? 280 278 250 ,

S. Obtain rank co-efficient of correlation from the following Ranks given by 2 judges

in a beauty comPetition.

Judge A, 3 7 1 i5 2 6 B 4

Judge B 5 6 3 I 1 4 7 2

A man wants to check the inventory records against the physical inventories

by a sample survey. Permitted dbviation in t5 and standard deviation is 39.4.

Find the sample size, if the confidence Ievel is 90%. (Value of confidence

co_efficient 90% = 1.64)

b.
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SECTION - C
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Ansrver any three of the following questions. Each carries fourteen marks : (3x14=42)

nd sons are given belowT^e heiqhts (in inches) of a group of J

Heiqhts of Father 71 68 66 67 70 71 70 73 72 65 66 68

Heiqhts of sons 59 64 65 63 65 62 65 64 66 69 62 66

Find the lines of regression and estimate the height of son when the height of

father is 69 inches.

B. Given below are the figures of production (tons) of a sugar factory'

Year 2014 2015 201 6 2017 201 I 201 I
Production (tons) 150 't54 176 188 190 198

a) Fit a straight line by 'least squares' method.

b) Show the actual and trend line on a graph sheet'

c) Estimate the production for the year 2A22"

The following are the annual premium charged by an insurance company for

a policy of Rs. 1,000. Estimate the premium payable at the age of 26by using

Newton's method.

Age (in years) 20 25 30 35 40

Premium (for Rs. 1000 Pqliry) 23 26 30 35 42

10. Estimate the production for the year 2004 and 2006 with the help of the following

data using binomial expansion method.

Year 2001 2002 2003 2004 2005 2006 2007

Production (in '000 tons) 200 220 260 ? 350 ? 430

9"

\"
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11' From the following data on six cities, calculate the co-efficient of correlation
between density of population and death rate.

9ry A B C D E F
Density of population 200 500 400 700 600 300
Population ('000) 30 90 40 42 72 24
No. of deaths 300 1440 560 840 i224 312

dda u{g

aqrorl - o

obdcnddo aab wa-{,d*rterl erDdo:r. {o erud-ddod odub erodrl$b : (sx2=10)

1. a) dm{d dd iouofr aoddeib ?

b) ddro$ idsdo$ erodrldeeea.

c) do?oJdor*l ee.r_d dndooo a{rldeeea.

d) (Y - l)u = 0 ado:r.

e) qoe.eosdpeeSedaic aoddeab ?

f) bozdododr deairldodde$ ?

g) bxy = -0.36, byx - - 1.38 esdd r dodtaadro.
,t1

A$,ad - et

oin{coddo drra& €,d4rleri erugoR . {go3ooc$ dd..rl ercb epoErlq;b i (3x6=1g)

2- z.ocb dqfoJ)r s Ee, 4 fog oarto s d{ugd zaulrlde doood. r.oc$ ?,rroo$o_
aeo$ erdun Edluqd ?!,Doq doddrlorDd nocdoeo$d oer?
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(JRcrJjl,

3. d*bri dsnd addrf$d.tr Oedenfld :

4.

X dred Y d Boozdsdo$ ioreddeadd>o dodrbBouro. arioJJe y =.gg
X d ddodrdfl dodo8oBobo.

adoJ>n&d eruoddo$ dPelrde erocogtr : ,. '

5' $odo$r {dror:o" 2 8e$rrndcb oeccbd $eedo$dl eabdoxr {,eed Bd3ouofiddl

dS8od al:a&eo}:od dod:baobo.

Bd$rls oaa)eJ ,sre'ruared nd$rlg dd:d doedoJc dDdo poedd cnder: q,egabd

eed,rdJE 15 CIor{ue$dr 39.4 il$ dozrd drqgo%. sdd ,J.,Edoo$ uraddabn

dod:&Eolro. (dozrdo$ idrbeai gO% = 1,.64)

6.

?3d

iuaBo
aq{J
qJC!,(?

X -bQ Yrlg ddJad nd iouof idrbea!
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cngmddra $Joa5 4,,d47teri erodol. 4,eo3Joo& -'gdod dapDol eloddd; : (3x1 4=42)

7 . ddri do%drd dod d,q abdds d9d ("ao?$rlsoJ ood bozSe':d desjrl$c3:o dod:bGe3oD'

dodCr add 69 "aoz$ 
.acroJ drrld oQd a{od: erooada'

8. dsdod addd Bdod roarordod: erua;fd (uaf )riqnndrdd'

dadgdrlr DqtoddCI-t od; ded deaJoJ: 6dr9dQ doootuo'

&x an d ma do 4 do 9 ai$ e":, rt$ d1 d ean d{cl O- rb d:Exr'

2022de dird eruaa.ddC:dtr elooadxr'

i

9' d-6. 1,000 fis anelri DdIJ dod0clS)od CIQtsgari:d araard q,ea:oj:od add

dgdodo.d.-iu s, do$Ldo_dulaJead .!,e*o$oq d"r${d eQtdood cosrai)

dJaao.

a)

b)

e)

eroopd (86friSOJ

do$r*(ddrrl$oJ

.:gsaroto (dJa. 1000 T9o'l)

72 65 66 68
dodo3c a{d
d:d$ add

71 68

64

66 67 70 71 70 73

65 63 65 62 65 64 66 69 62 66
69

2016 2017 201 I 201 I
cJCtlf 2A14 2015

176 188 190 198
150 154
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10' * dgdod ero8-erodrlg ioao$ood Lfldoetuo$ef awadde epab3or 2ao4aarto
2006 d eruoddo$dtr cocrd&o.

11. Edri droqcbd dD&gobod ,adxaodd, 
"$d)idrbeoddd: dod:bGobO.

ot

'ubdea qiCnea'do "A&d idiouo{

weo"dd ('000 t3$rlgoJ

dild
OJ Aq9 o{ aa6

cdnoa3o xao{,d 200 500 400 700 600 300
rdloaSo ('000) 30 90 40 42 72 24
ubdea !orl, 300 1440 560 840 1224 312


